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1. On the surface of the Moon, two persons cannot listen each other as-

UPPSC - 23 1 B

[UPPCS (Pre) 2003]

a)They wear special types of space suits on the Moon m 00\

b) Sound travels very slow on the Moon

\p)’(here is no atmosphere on the Moon 051 ‘\4 I(T — 9| %"15@ '1(‘5:] 2
d) Their ears stop working at the Moon
ﬂb‘f nce
Atbphese

[UPPCS (Pre) 2003]
a) ¥ 95T W fa¥iv U & WA Y Ug-d &
b) T W taf agd @i+t nfa ¥ ge<t

e 5T W B qTaTaR e
d) TEHT IR I7F BT HTH PIATGE P ad &
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2. A ’black hole’ is a body in space whichgdoes not)allow any type of radiation to come
out. This property is due to its . —

[IAS (Pre) 2000}
a) High density

b) Very low density H‘{ﬂ\'\ﬂ—( dp-f\cni\‘,’ — 4{0.\/)“‘\1 T

¢) Very large size r —~ ~ A
d) Very small size 64(4%'%“‘8\'6,2 ik )\Bé\(d T
D e aiaﬁ&rﬁ?fﬁséaﬁf&ﬂﬁtﬁm%ﬁmwaﬁwqﬁﬁm%m%l
g8 WU 9P PRUIE -

b

b) 98d $H U@

¢) 9gd 95T TP
d)tgamam

Ty ouneonsssrumms . er-slestow BB
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3. Consuder the following statements
| The Earth receives the Sun’s energy at the infrared end of the spectrum. )
2. The Earth re-radiates the Sun’s heat as ultraviolet energy. S

Which of the statement(s) given above is/are correct? S"W 4 ,' :\o’z:ﬁ g \
Fafafed sy=1 w faR &3 W V4 5 f 5 j

1. Je} B WaeH F Ve BR W G4 3 Sl U gl 2
2. 7ot G Y on A AT oAt & A g RRmRm e d £ qrth
SR R U Y= § @ 1 9/ 98 2/

N 7 %

Melther 1 nor 2 “ﬁ Qave
¢) 2 only Q!\(W\M"\

d) 1 only Y q/f\
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@ The sun, the moon, and all those objects shining in the night sky are called ........

a) Planet \,‘
b) Asteroids C(QJ%&)\ b()d \1

¢) Meteoroids

d) Celestial bodies Sﬂ*ﬂﬂﬂl{ ‘“\‘3
gd, I5HT 3R 9 & TR H IHSHA arent 9 avgeil # ... FET AT B
a) Yd U

b) &s9e
¢) IePIUS

d) 3Tty fig
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5. The various shapes of the bright part of the moon as seen during a month are called?

aﬁ‘ull Moon N

b) Nev:‘ Moon an —

¢) Bright Moon —

d) Ph:ses of the moon '\4-6‘17 4:7 c’.‘c'”ﬁ/ V’Z—“ﬂ
ﬂ%“?'?qwi’qu'

U HIE & SR fe@rs 33 ardt 95w & guaia YrT &1 faftrs snefaal & &ar ser siran

82

a)m

b) SHIGHT

¢) I=dd Al
d) TEHT & T

Ty ouneonsssrumms . er-slestow BB
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. Consider the following statements:
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1. Since Venus is seen in the East in morning and in the West in evening. It is called ‘Morning star’
as well as ‘Evening star’.

2. The Earth looks blue when seen from the space due to the presence of large amount of water,

hence it is called ‘Blue Planet’. : .
(N
Which of the above statements is/are correct? mo “j 5| d l{‘ |
é

\lzwing
fAafafaa sy=1 w faar +3:

1. P YrF s T @ RTA gy am s im A REs oI s R FTaRT &
HTY-HTY "XH ST aRT W Fe1 Srar 2|

2. Uit @Y aif¥e A 9t SufRufY & R safer @ e w gt i fRars 3f 2, safee s e
Ug HeI Al g |

ST | A B 9/ $YF T 2/ _"‘7;_4"(_]
a) Both 1 and 2 .
b) Netither1 nor 2 m (YN fb'“”f
c) 2 onl . :

d) 1 only /‘k”‘ﬂ(
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7. Which one of the following is the time required for the earth to return to a given point in
its orbit with rgjerence to fixed stars called? I

a) Tropical year

v
b) Sidereal year
c¢) Solar year l/‘@ . @
Sid el ‘1»(,« <

RR aRT & e # B! AT BT H v FAfda figlow e & e smawas awg &t
ﬁaﬁ@aﬁﬁm%@mﬁ - ﬁgj e

a) Swrfedta ad a9

b) & T4 @
c) 9 Ty

d) 9% a¥

d) Lunar year

.Q KHAN GLOBAL STUDIES
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8. Which of the following is the closest sta

—>

a) Alpha Centauri
b) Sirius

\Q’{roxima Centauri

d) Barnard's Star

Frafif@a # @ #1991 arT 9d & va Ao &2
a) 3BT gl

b) AT

c) WITGTHT HgR!

d) TRATS BT RarT

Ty ouneonsssrumms . er-slestow BB
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contains our solar system?

9. What is the name of the galaxy tha
a) Andromeda Galaxy
b) Milky Way Galaxy
¢) Triangulum Galaxy Wﬂ’kj w”‘j c)'\lf\“l"l

d) Large Magellanic Cloud

I ATHTRAT BT T A 8 o gHRT IR dsd WA 82
a)@ﬁmm

b) ST HEAT THTRA

c) Br@ivitg s

c)mﬁﬂ%ﬁam

Q KHAN GLOBAL STUDIES By -AjectSir [l
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10. What is the phase of the moon when it is completelyﬁlluminateé)by the sun?

(A) New Moon

(B) First Quarter f C QAF’)‘ 2|£0)

(C) Full Moon

(D) Last Quarter "\.Lg {j N l (_Um‘(
Eclips?-

AEHT B a8 AT T ¢ 9d 98 G4 A Yuid: USRI a1 82

() amﬁw* . F‘\u [l rony

(b) Ugd! fammet

(v) gfofa

(d) Sifaw famTet

o ®
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Phases of the Moon first quarter moon

waxing gibbous
moon

waxing crescent
moon

s’
’ Y
»

’, S\
’ ~
’, A
S
'
'
|
|
'

waning gibbous
glelely

waning crescent
moon

o)

.

last quarter moon

™ 2N E Enmurnlnnesdtiia Rdtannicra Ins
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11. Which of the following is the largest planet in the solar system?

. (A)Jupiter

(B) Saturn

~—

(C) Uranus

(D) Neptune

fFafafed # @ o9 91 9k 45 &1 994 981 78 872
C)

ORUE

(c) T H

(d) AT=gH
“[.YxancioBaLstupes @ By-meetsr W
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12. What is the name of the space telescope that launched in|2021?

L

(A) James Webb Space Telescope
(B) Hubble Space Telescope 3 a-cf\Ql)

" \o
(C) Chandra X-ray Observatory \,3”\9 ¥

(D) Spitzer Space Telescope X LR’\ (ﬂb
2021 ¥ yaa srafer grel= &1 @m A ¥ &W

(a) I 99 WY SARDIY
(b) B9 WY ARDIY
(C)WQW-}QWW
(d) FRUTsR WY ¢dlaiy

o®

KHAN GLOBAL STUDIES




UPPSC - 23 Reasoning (CONCEPT + PRACTICE) - SERIES

2
3. What is the Big Bang theory?

(A) A theory that explains the origin of the universe

(B) A theory that explains the evolution of stars

(C) A theory that explains the formation of galaxies

(D) A theory that explains the expansion of the universe
(E) All of the above

Vi

famr &1 Rygia s 82 /
(a) TP Rigia o wgtie 91 Iy &t ARSI HdT 8

(b) U Rygia ot aRY & R &t aaren wwar @ /
() TS Rygia ot srarerimait & fFrafor #t saren swar g

(d) TP Rygia ot welis & fawaR ot aaren #arg /
(e) SWIad A

ked xnwancroBaLsTuDES @ By-ajeetsr [




\}/what is the Doppler effect? Q?\\v\g\ ()Q)

®
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(A) A phenomenon in which the frequency of a wave changes due to the relative motion of
the source and observer

(B) A phenomenon in which the wavelength of a wave changes due to the relative motion of
the source and observer

(C) A phenomenon in which the amplitude of a wave changes due to the relative motion of

the source and observer

(D) All of the above \/ @

(a) U "eAT forad Hia ok vddars @t arde fd & SR a3 3t gl aga wrdt 8
(b)@ﬂhﬂﬁmaﬁwﬁwaﬂmmwﬁf%mmaﬂm%ﬁmw\@/
(c)wmﬁmﬁahaﬁ?mﬁwaﬁmﬁmﬂhaswmmmmw

(d) Iutad gt













DOPPLER EFFECT

RED SHIF1 o BLUE SHIFT

e

-

Stationary freguency Lower fregquency Higher frequency

.’m
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15. What is the cosmologica w

e ——

2 CovstenD

(A) A constant that determines the rate at which the univerje is expanding
(B) A constant that determines the density of the universe

(C) A constant that determines the temperature of the univers)

(D) All of the above

) T RR1® &t 39 X &1 FAuiva svar 8 o w seiis a1 fliwar st w8 {M ‘? _
(b) TP RR1® &Y Fgiis & v 3! Aufia sxar @
(c) TP FRR1® it gatis &1 argar= FAuiia svar 2
(d) SWRIF gt

.Q KHAN GLOBAL STUDIES
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\/@hat is the difference between a comet and an asteroid?

-—-—_—-'——-i
(A) Comets are made of ice and dust, while asteroids are made of rock and metal

(B) Comets have elliptical orbits, while asteroids have circular orbits
(C) Comets have tails, while asteroids do not
(D) All of the above

\ 75 iR agzre s 22 . A
(a)maﬁaﬁvqaﬁaﬁﬁﬁ?.mﬁgzrﬁmaﬁwmﬁaﬁsﬁa
(b)maﬁamﬁimﬁ?ﬁ?,mﬁiwﬁaﬁwﬁmﬁ?ﬁ%
() Waﬂﬂﬁ‘iﬁﬁ?ﬁ%.mﬁ?wﬁaﬂ@

ﬂmw

“T.Y oun oronar sroome. . By-mseetoe BB
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17. What is the universe made of?
sl ORI iy i irai

(A) Ordinary matter
(B) Dark matter

(C) Dark energy
(D) All of the above &
Sach |
(a) mwmzf/ N e
(b) STP AT /
(c) BT TTui \‘/%\T/\
j) SuRad gt

.Q KHAN GLOBAL STUDIES
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18. Which one of the following is not an Astronomical object?
— 0l gen - [UPPCS (Pre) 1996]

a) Black hole

Brittle star

Fafafea § & ®= dt v @ avg T8 82

a)ﬁﬁﬁa
b) @THY
¢) HTR dRT
d) UcR

[UPPCS (Pre) 1996]

.Q KHAN GLOBAL STUDIES
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19. Which of the following stars is known as|Fossil star?

Sf\disrd R)

a) Red Giant

ST

b) White Dwarf
c) Dog Star

d) Protostar
FrafafEa § & S 91 aRT Sy aRT & 919 | |1 96T 82
a) did qI14d

b) WG a1

¢) SN TR

d) WIeReR

Ty ouneonsssrumms . er-slestow BB
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20. Which one of the following is not afnatural

(a) Standard time

b) Day
¢) Lunar month

[PCS (Pre) 2016]

et |

FrafafEd & @ F19\0 99g 3 urefas g1 781 82
2) TS 99 ~ H"‘MMWIZ'

b)
c) 9% A
d) Swrsfcadiy ad

d) Tropical year

[PCS (Pre) 2016}

.Q KHAN GLOBAL STUDIES
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21.Consider the following two statements, one labelled as the Assertion (A) and other as Reason
(R).Examine these two statements carefully and select the correct answer by using the codes given
below:

FafafEd gt w3 R AR #3, @ @) afiaya (@) ok g & RO (IAR) & ¥4 | daa fear
21 39 a1 SYEI BT WHYES GRS $Y AR 12 3T T Hie BT UGN S "l I I

Assertion (A): Venus is the brightest object in the sky after sun\.fV
HYA (A): U & 9IS EH T8 ATHTY H Tad oS Io a5 e

Reason (R): Venus is the second planet from the Sun in our solar system. . ‘é ﬁ\’ '\:

TR (R): TF FAR AR Hsa A ARl A &2\\/\( k\&(\ A\
£y (

Codes: / B¢ : *‘\J\A\W\ < fp

a) A is true, but R is false. / A 94 8, A R Ted B @ i\ ‘\Lé

b) A is false, but R is true. / AW%, afe= R'\‘TH%I
c) Both A and R are true, but R is not the correct explanationof A. /A ah'{ R ﬁﬂ’f HqHdg % afe= R, A®I

LEHESEETUE R

d) Both A and R are true and R is the correct explanation of A. / A TR ol 9 % 3R R, A P! Tal

CAEE 1N
Y cuneonsssrumms . er-slestow BB
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2
22. The last stage in thg life cycle of a star is
a) Red Giant
b) White Dwarf
¢) Supernova
d) Black Hole
et IR & Sfta= T @1 sifaw TRor g
Vi

“T.Y oun orosar sToome. . By-Awetsx B




" | \ > | l’ > @
oL 4o :
. . Average > - White
L star . P|anetary dwarf
Red giant

m Nebula
. ’ x =
& « Neutron

y /7 star
.l . :

® LFe > 3
L o *

=% Supernova »
supergiant Black hole

Stellar >
Nebula ™ .

Massive star

i
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\ZB)Hﬁich of the following statement(s) is/are true? ﬁuﬁf@a ? A S I HYT I %/'??

1. A planet is a celestial body that orbits a star and may or may not be a star itself /J&_

TS @iy fig 8 ot o aR &1 aiesa ovar 8 ok T arT gt Wt a@ar @ o =gt ot
— e — _____——::——-———-—————-—-——_—-___—
2. A planet has sufficient mass for self-gravity and is roughly spherical in shape / Y& U8

* oeq-reareeior 3 fivg it ST g § o ST MRSV NSRBI e

3. A planet is formed out of fragments of rocks and me aftavers is our solar system /

SR G S 41 A TG

4. Pluto is the smaller;lanet of our solar system / Wl SR AR HSA HTBICT TS & -
a)2and4/23R4 + ) X
b)2,3and 4/2,3 3R 4k
c) 2 only / Hdd 2
k_d/1 and 2/ 132
O e T 3
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24. Consider the following two statements, one labelled as the Assertion / fFafafaa @ sy w fdar &%,
TS B AfHBYA

(A) and other as Reason / AR ﬂ'%ﬂ B! BRI
(R). Examine these two statements carefully and select the correct answer by using the codes given below:

g{ﬁmtgﬁﬁm&mw%uaﬁwﬁmmuﬂmﬁmﬁmmmmmm
3tX 4+

Assertion (A): The planet Neptune appears blue in color. / %Y+ (A): w g A 3 &1 fe|rs San {
Reason (R): The presence of h,he gas in the atmosphere of Neptune is responsible for its color. / @RV (R):

A=A & ATATERU H h & he 9 Ft A 39 1 & fore order 21

ey

a) Ais true, but R is false. / A 99 &, Afb= R 7Ted &1
b) A is false, but R is true. / A 7Ted &, afFT R 9T B
c) Both A and R are true, but R is not the correct explanation of A. / A3R R ST ¥ ? AP R, A &1 TE1

WHHRr T 2

d) Both A and R are true and R is the correct explanationof A. / A 3R R 31 9 § 3R R, A B! HEl SRS

|
“T.Y oun oronar sroome. . By-mseetoe BB
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25. Consider the following statements: [FaffEd Fy= W faar #v: F a d 2

1. Our solar system is located in the orion arm of the Milky way galaMwo-third of
the way out from the center.

mﬁv@aﬁa&%mwﬂaﬁﬁ&wwﬁ,hﬁ@ﬁ-%gﬂwf@a@

2. The solar system formed from an interstellar cloud of dust and gas or nebula about 4.6
billion years ago.

IR HSd ATUI(4.6 3RT a¥ Ugd aﬁzﬁw%@ﬁmﬁwﬁmﬁw
T — — |
Nebwl o

Which of the above statements is/are correct? / SR A A GO W/‘\ﬁ DY '\‘Tﬁ %/%?
Both 1 and 2/ 1 3R 2 &A1

b) Neither 1 nor2 /9 dl 1 3R T &Y 2
c) 2 only / $ad 2
d) 1 only / $ad 1

~ Kva kHAN GLOBAL STUDIES
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26. The planet Pluto has been abandoned from the group of the conventional planet
and kept in the group of dwarf planet by a summit held in

a) Geneva \L

‘ ra:ue % ﬂ\aw)f 9006
d) Paris Jjjﬂ

ATford U RREY 99 gRT WEl 98 & WWRNATH I8 & G S eI a1 U8 &
94E # &1 T

a)ﬁvﬁ?ﬂ
b) U
c) e
d) afvs

“T.Y oun oronar sroome. . By-mseetoe BB
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28. Which of the following pairs of planetsjis without satellites? ) |

L [UPPCS (Mains) 2016}
a) Earth and Jupiter

b) Mercury and Venus Me<c V‘(‘1
¢) Mercury and Mars

d) Venus and Mars \V/211%%

Prafafla & @ a8l o119 91 g Iuue WRa &2

[UPPCS (Mains) 2016]
a) quﬁaﬁwmfa
b) IY 3R Y
¢) IY 3R HIE
d) X[ 3R HITe

.Q KHAN GLOBAL STUDIES
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Z@y Solar eclipse occurs on

\)Y(mavasya only

b) Poornima only
¢) Both (A) and (B) (AV\ML’“\/
d) Neither (A) nor (B) e

.
QMY [UP UDA/LDA (Pre) 2006]
™

> il

T g4 Tgv F "ufed glar gl

[UP UDA/LDA (Pre) 2006]
a) Had JHTTHT
b) Faa gfofaT
c) 1 (A) 3R (B)
d) T at (A) 3R T & (B)

Ty ouneonsssrumms . er-slestow BB
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30. Which of the following planets does not have a satellite?
N ﬁuppcs (Pre) 20@

a) Neptune
b) Earth

v{) Mercury (@{,{

d) Mars
Fafafaa o 3 59 a8 &1 318 Iuue 781 872

a) ﬁ'lﬁl[-'-!
b) geat
c)qY

d) {79

[UPPCS (Pre) 2008}

.Q KHAN GLOBAL STUDIES




o®

31. What causes the change of Seasons?

UPPSC - 23 1 B

[PCS (Pre) 2013]

# ——

a) Earth’s revolution and inclination of its axis

b) Earth’s rotation and inclination of its axis

o\ o\
c) Earth’s revolution

d) Earth’s rotation and revolutl"“\i f)\ g\\’\\kl}‘
S—— [PCS (Pre) 2013}

KHAN GLOBAL STUDIES

a)qtﬁaﬁuﬁmaﬁvawaﬁgﬂmm
b) G2&t BT FHAT MR 30! Y R gH1a
c)q?ﬂﬂﬁﬂﬁ'm

d) gt &1 gui o afsmaur
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32.The Solar Eclipse achieves totality only in limited geographical regions because

a) The trajectories of the Earth around the Sun and Moon around the Earth are not perfect circles

b) Sun rays can reach most of the peripheral regions of the shadow of the Moon due to
atmosphere refraction

¢) The Earth is not a smooth flat surface, but has elevations and depressions

d) The size of the shadow of the Moon on the Earth is small as compared to cross-section of Earth

@mmmmﬁﬁﬁmmm%@ SQ\\ @ @

a) G4 & TRY 3R 92t F vaT gy 3R guft & 9IRY ok 95wl & vary vy quf g9 9t &
b) AGHSH & AUTAH & PRI G4 D1 B0l T50T B BT & ferwizr uRefta &= 9% vgw aadi 8

¢) Tt U =it WuTe Hag 781 ¢, afc 3ud Hars R aue & ?f]l Ii\l 12‘
W A B BT ST HTHR AU B B go1 | Siel gial g "{ﬁd 1
C\
Qa4

By-Aectsir Il

.Q KHAN GLOBAL STUDIES
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33. Which of the following pairs is not properl

- [UPPCS (Mains) 2011]
a) The brightest planet of the Solar System - Venus

b) The slowest moving planet of Solar System - Mars
¢) The smallest planet of the Solar System - Mercury
d) The largest planet of the Solar System - Jupiter

(e S

a) UR HEd &1 Yo THG AT T8 - g[w

b@mmﬁﬁﬁmmw m@ m
)

Hesa pIIad Slel Jg - g9 -/ =
d) ¥R HSd &1 9aH 981 9% - geid _/

[UPPCS (Mains) 2011)

o ®

KHAN GLOBAL STUDIES
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34. Assertion (A): To orbit around the Sun the planet Mars takes lesser time than the time
taken by the Earth.

Reason (R): The diameter of the planet Mars is less than that of Earth. X x x x e
YA (A): T4 & TRI 3R URFHHT HIA H W1 g Bl @%rqnqmﬂamm
GG %l - — g @ -

‘m(a):mwmmqﬁﬁmél\/

[IAS (Pre) 2006}

Code : BIS

a) (A) is true, but (R) is false / (A) U9 &, AfF= (R) T &
b) (A) is false, but (R) is true / (A) 7Tad &, AfPH (R) T
¢) Both (A) and (R) are true, but (R) is not the correct explanation of (A) / (A) 3R (A) g1

U &, AP (R) (A) T T TPIHI0 81 8

d) Both (A) and (R) are true and (R) is the correct explanation of (A) / (A) 3R (A) Sl U
g 3R (R) (A) BT Hg!

)| Q KHAN GLOBAL STUDIES By - Ajeet Sir
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35. The Earth’s axis of rotation (polar axis) is always inclined at an angle of

s —— ey TUPPCS (Pre) 2016]

a) 24.5° from the elliptic axis
b) 23.5° from the elliptic axis
c) 23.1° from the elliptic axis
d) 23.0° from the elliptic axis

— rF o
Gzﬁmwha{&r(gﬁua{&naﬁmwaﬂmwgﬁﬁmg
[

UPPCS (Pre) 2016}

a) AUVSTHR A& H 24.5°
b) AVSTHIR H& | 23.5°
¢) AVSTHR A& F 23.1°
d) SUSTHR A& | 23.0°

.Q KHAN GLOBAL STUDIES
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36. ‘Big Bang theory’ is related to

—

4 [RAS/RTS (Pre) 2007]
a) Origin of the Himalayas

b) Eruption of Volcanoes
¢) Origin of the Universe
d) Continental Drifts

o & Rygiar I uaflRa @

m— [RAS/RTS (Pre) 2007]

a)ﬁmﬁmﬁr
b) SATATHE! f[awwie
c)mﬂﬁmﬁf
d) HETgIuIg 9g1d

.Q KHAN GLOBAL STUDIES
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y 4
b) Moon-The Earth’s Moon C \)Y(
c) Mars «“ \Qr( __5 5 &d
d) Jupiter ‘\‘«)Q’\

Gﬁaa%iﬁmamfwaq@m%mmﬁﬁﬁmﬁﬁhﬁsﬂmﬁ
&l

a) QRIUT-ge Ul BT T&H
b) TSHT-YAt BT TZHT
c) HiTd

d) gexufd

37. Which one of the following may have (alien life because\of a very conductive
environment to life?
a) Europa-The Jupiter’s Moon “f

@ KHAN GLOBAL STUDIES
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39( One Astronomical yunit is average distance

o ®

|
|
KHAN GLOBAL STUDIES I B

' [PCS (Pre) 2011

a) Between Jupiter and Sun L -LS' Dﬁqﬂ _\4, &é‘\ )

b) Between Neptune and Sun

¢) Between Earth and Moon
d) Between Earth and Sun

T ity goTé oitwra it 3 \\Q\U‘
Q [PCS (Pre) 2011
a)mﬁh’oﬁ??{ﬁ%m
b) AU=gH R U & &
C)Wﬁ?mﬁﬁi
d) gt iR i & a9
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40. How many fonstellatlons are injour Space?

[BPSC (Pne) 2000]
%

[BPSC (Pre) 2000]
t\
a) 89 >
X ()
) 90 <:19Y1\rrv'
c) 88
d) 87

J

a) 89
b) 90
c) 88
d) 87

gAR iafve & fra aRmisa &2 Cb”\
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@ Assertion (A): Artificial satellites are always\launched from the Earth in the Eastward direction.
YA (A): PAW IUUT THT YT ' Wﬁﬁ?lpg(d("nu Ledh -

[PSC (Pre) 2017}
Code : HIS
a) (A) is true, but (R) is false / (A) ¥4 8, @f%= (R) Toa 8 b

b) (A) is false, but (R) is true / (A) 7Tad 8, Af&%T (R) T &

c) Both (A) and (R) are true, but (R) is not the correct explanation of (A) / (A) 3¥ (R) Fl ¥ &,

A (R) (A) BT HE WHHI 7E 7

d) Both (A) and (R) are true and (R) is the correct explanation of (A) / (A) 3R (R) SIFf ¥« & X (A)

(T) BT T WHHIT 8
| @) [ ————r——— e | |
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b) Axial tilt by 23 degree (.«A;"M
¢) Both (A) and (B) G \’\‘
d) Rotation on its axis >\
mmﬁq@ﬁnﬁaﬁ fay fadwar & sRU AT 2
a) G4 & TRY 3R wifd

b) 3f&fta gaTa 23v; f&ht

c) ST (A) 3R (B)

d) U1 YR TR gHAT

| PSC (Pre) 2019]

43. Seasonal changes is caused by which one of special characteristic of Earth’s motion?
- _LESC (Pre) 2019
a) Revolution around Sun

o®
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4@: energy is due to
[PSC (Pre) 2018

a) Nuclear Fission
b) Oxidation

¢) Nuclear Fusion ’ ( |(";l {Q v 4[&‘“[}
d) lonization '\, " wN V;"‘/Y\"ﬂ

@?c;ﬁaim%- - N

[PSC (Pre) 2018
a) T A
b) SMTRITHI

¢) URHIY a9+
d) TGS

" ked xnancroBaLsTubes 00 py-mjeetsr NN
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45.Consider the following two statements, one labeled as the Assertion (A) and the other as Reason
(R). Examine these two statements carefully and select the correct answer using the codes given

below:
3 HY= IR AR #Y, te 9 fisya () iR gEX & & 9 # daa fHar
A ilésqi%|laa’r=|’fil o otk o Sookgoioge Sy § b gl S famivhor g

Assertion (A):The same face of the Moon is always presented to the Earth.
FYF(A): THT BT TS §1 TG0 §A Gl S WA JRge giar ¢ |

Reason (R):The Moon rotates about its own axis in days which is about the same time that it takes

to orbit the earth.

W%R):WMQ’&W o=t & gwar 3/t gt 5t ufvepar &3 § @ a1 GHY & ST
CRICEED | 7«

Codes: B8 Qﬂd}\‘A

a) A is true, but R is false. / A 99 &, afp R T 21, (a )
b) A is false, but R is true. / A 7Ted 8, Af%9 R 99 B
c) Both A and R are true, but R is not the correct explanation of A. / A 3R R AT 9 %, dfP R, A

&1 el TSI 781 8

d) Both A and R are true and R is the correct explanation of A. / A 3R R 31 94 § 3R R, A B Hel

TS 2|
I B

~ Kva kHAN GLOBAL STUDIES
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46. A ‘black hole’ is a body in space which does not allow any type of radiation to come out.
This property is due to its

\/
a) High density / ,‘b\ Wb\

b) Very low density /

c) Very large size

[IAS Pre) 2000}

d) Very small size

e g aiel ¥ ue fie & ot faeft off o & fafdsvor &) arer 78 Peea SaT® 1 U'
AR 39S & PRUT &

[IAS (Pre) 2000}
a) 39 U
b) §8d ®H U

c) g4 TST ATPR
d) 98d BIcT ATHR

Ty ouneonsssrumms . er-slestow BB
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47. wm%mqﬁ%mﬁmﬁﬁﬂﬁaﬁﬁmﬁm% 9ad Ugd fra

weiRfa frar ur L

F)) ﬁiﬂm MQ[’]
b) AT U

c) SIEHH PUWR '\4)!104

d) HRMFADH

.Q KHAN GLOBAL STUDIES
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48. Wﬁmﬁf@aﬁﬁﬁmﬁ%ﬂuﬁmmﬁmﬁaﬁm%mm
& 18 & U H IgYd P 82

srafeas & e aeeit @t Fufeuf 1 war TEET IUFSC- | 1ASCPe)
) S & YsfRive ufvaesn &1 saeie |

c) Siaivel ¥ sl a1 fd |
d) Siafver & gur=ar eIt &1 8T | f)“/

() =c
(V) s, C.d

+-

o ®
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50. ¥R URaR ¥ way # Frafafla syt § & s-w/3 w8 /2

G R T g i R & Rrdia o aa 81
2. ﬂﬁﬂ?ﬂﬂf%}
e & T e BT WA R Tl I gia-

F)) Had 1 \q.\\& @
b) &dd 2
Mmﬁzzaﬁf

d) 9dr1,982

o®
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| =
51. &ETe! aYT YAPd & 4 T 3ax il 82
1. §f5IE oY IgH MDY (@eias) 8, srafe Yy Rwefifya et & fififa 83 & R
gt 3R urg erd Smuw # 91 7Ed g
I B

2. TR AUPYa: gewufd 3R Hra & uiwar vyl & dig U o §, siafd quag
AfUST: YH R U S T UL A 2 | Pale

3. YHPg TR St g=s axfd €, S1af gizve gg =8 axid |

S 4 4 /A BYF WE 8/3?

o®
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s2. gt s & v A g d el 2 Y — ([alke
a) T US &7 g 8, Fe ATgeioi 3R ATRe waz arn & 21
b) &FUT Jewufd 3R UITA Ul & &9 UTY &1t 2|

¢) FeWfd 9aH faue U & Wel 49 YHT 78] ¢ 3R SUBT qIgHSd gIEgIv 3R
gIEeieH & Oifte, o- Hid9 & WWR 21

tﬁﬂ,}[ﬁ,m ‘ siafve® 78 3R Ay aredt uE T

o ®
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I )
a) mmmmwﬁa}%mmﬁw 551K zof?ﬂﬂa{m%d’ﬁf&m%n
by R F @ & P fow ok Tg @1 awT 4 Rk FEa il
)| I B

c) SIAaSH &1 TP A= A | " 3(,1
d) 3% AT HTUP 4= ATH .%(‘ M‘

Q KHAN GLOBAL STUDIES
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57. U8l & deH # Aufafaa sy R fdar Fifva-

1. Siifag= 7§ Tzt aut uigsit & PAffa g &1 ¢ —-“'3“\(3%\ (mé
z@mmmmmmm%l

iy &
Sude d A H-11/4 W81 8/8?
a) &ad 1 wh@fb
b) ;:Zx'zaﬁ’f ({DW‘\\Aéam
c) 2
j/f—ra’n MRTH /

Ty ouneonsssrumms . er-slestow BB
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58. sietie # uqrd &t IufRufa aut faavur & dgd # fAaffea 3=t w faar Sifem-
1@mm%$mmmﬁﬁwmél

Y awis & R & Rl S swvardt 1
Sudad HYAl F A PH-H1/3 Tl /87

—

a) Had 1 .

b) Hdd 2 Tq,ow-l
¢) 13R2312

d) Fal13RAE2

Ty ouneonsssrumms . er-slestow BB
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59. BAR URHEH & WeH #, Fufafaa # | 5= srui 3 widta w8l & sion@fere agrsd

(en Taema an >
Hﬁﬁmj E (( R %ﬂ
2. T IR L4573 14
(3.Ugi v dapra g ) )()()(7( Lf
1 f3d U e &1 v F Hel I gHa- S"LHKSTP\W’)
a) Pad 132 |

b) ¥dd 133
c) Fad 2 3R 3
d) 1,233
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60. TR |R #d A gz vg Frafifa et 4 & f57-f5= & it srafRa @

a) gl YT "I ]
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a) &t ugrd &1 ¢ um, ﬁmﬁﬁwﬁm%aﬁ?wwaﬁm%l
b) USSR Y US aram YHebq |

Wmﬁmwmﬁﬁqﬂm%wﬂmwwﬁvm%l
d) 94 @t ufvHHT HI1 aTd1 UP Sier geri s |

.Q KHAN GLOBAL STUDIES
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o3 Wﬁ;@j
1.2 & waR R & Rt o o a3 o
I A3 o i @ st e &1) ————%}
3.3 P Hapg AT H 1Y & PRUISTUABIA 2 |
Suiad Byl § @ PH-Q 98 &2 N(
a) &ad 1 aﬁvz% K\(\\\‘LR
b) Had 233 ~+ o
AR

A i

d) 1,233 \f

o ®
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(b) 9Y

~ B vrpsc-23 1 B
sizf:a_awy&mmmmam%?
(c) P
Fi

(
(d) gewafd
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